Ratio to ATLAS

1071

1072

[EEY

0.5

8000 GeV pp Jets
7 I T I T I T I | T I I I I | I I I T |—4(£
B 13
_ Jet Charge RMS (k=0.7, central, fj] < 2.1) P
- 2
o
L |
A\l
S
i
= =l
— —o
L .=
— S = owm m u u n
0
1 m
— A <
— oo —™
— \ 1 — ©
— Vo 1L
— 1 1 H ™M
Vo —
— L 1=
- m ATLAS 1%
- - Her M@ 7.0.2 default —H=
— ?thg 8.21p default c
e herpg 1.4/2 default — §
— L 19
— L 15
- peh
(&)
B | ' | ] | | | ) | | | | | | | | |_ E
: T T T T | T T T T | T T T |:
— —2
1
L —0.5
. I N I B |
0 500 1000 1500



	Contents
	Page 1


